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AVR 4 — 54
4.6
“ , { SRAM 1
1/0 . LPM PUSH ( i
POP § i
4.6.1
1.
MOV
H Rr [
Rd Rr
: Rd = Rr
MOV Rd Rr 0= d= 31, 0= r=31 PC&PCH 1
16 :
0010 |1ird |dddd |rrrr |
{ SRE} :
I T H S V N Z C
: ( 4611.ASM)
Ip:mov r16,r0 ; RO R16
rcall check ;
rjmp Ip ;
.org $0100 ;
check:swap r0O ; r0
ret ;
Words: 172 bytes)
Cycles: 1
2. SRAM
LDS SRAM
SRAM 1 a 16
64K SRAM . 64K » LDS RAMPZ
: Rd<(k!
LDS Rd Kk 0= d= 31. 0= k==65535 PC&PCH+ 2
32

1001 | 000d | dddd | 0000
Kkkk | Kkkk | Kkkk | kkkk

{ SREG!
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AVR 4 — 55
I T H S Vv N Z C
: ( 4612.ASM)
LP:1ds r2,$0200 ; SRAM $0200 , :($0200)=%$11
add r2,rl ;R2 RO , R2 , :(rl)=$88
sts $0200,r2 ;R2 SRAM $0200
RIMP LP ; SRAM ,

B Memory: 1

|Data vI apc gﬁ 0x0200

O1F0 00 00 00 00 a0 00 00 00 00 OO0 00 00 o0 Q0 o0 oo ;I
0z00 11 00 00 00 00 00 00 00 OO0 OO0 00 00 o0 Q0 o0 oo
0z10 00 0o 00 00 00 00 00 00 00 OO0 00 00 0o 00 oo oo
OZ20 00 00 00 00 00 00 00 00 00 0o 00 o0 o0 oo oo 0o ;I

Words: 2 {4 bytes!
Cycles: 3
3. SRAM
STS SRAM
: SRAM. 16 .
64K SRAM . STS RAMPZ 64K o
: (k) €Rr
STS ks Rr 0=r=31, 0=k=65535 PC&PC+2
32 :
1001 | 001d | dddd | 0000
kkkk | kkkk | kkkk | kkkk
{ SREG :
| T H S \ N YA C
: ( 4613.ASM  4612.ASM )
LP:1ds r2,$0200 ; SRAM $0200 , :(%0200)=%11
add r2,r1 :R2 RO , R2 , :(r1)=$s8
sts $0200,r2 ;R2 SRAM $0200
RIMP LP ; SRAM ,
Words: 2 {4 Dbytes!
Cycles: 3

LDI—
: 8 R16~R31 .
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AVR 4 — 56
: Rd<K
LDI Rd K 16= d= 31, 0=K= 255 PC&PC+ 2
16
[ 1120 [ KKKK | dddd | KKkkK |
{ SREG :
| T H S V N Z C
: ( 4614 .ASM)
clr r31 ;R31
Idi r30,%F0 ; R30 ,R16= R =R3l
Ipm , z
Words: 172 bytes)
Cycles: 1
4.6.2
M X
1 X SRAM
LD X SRAM
: SRAM » SRAM X
(16 ) a 64K SRAM
SRAM & 1/0 RAMPX a X
' 1 1 a X ' “
: Rd€& (X} ; ,X
Rd€ (X) X€EX+1 ; , X 1
X€X—1 Rd<(X) ;X 1,
LD Rd, X 0= d==31 ,X PC&PC+1
LD Rd,X+ 0=d=31 , X 1 PC&PC+1
LD Rd,-X 0=d=31 X 1, PC&PC+I
16 :
1. 1001 | 000d | dddd | 1100
2. 1001 | 000d | dddd | 1101
3. 1001 | 000d | dddd | 1110

i SREGJ
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AVR 4 — 57
= =T =T =T =T =T =]
. ( 4621 .ASM)

LP:
clr 1r31 ; Z
Idi r30,%$20 ;$20 Z
Id rox+ ;X X+l SRAM RO, :SRAM($0100)=$11

:($0101)=$22 ,($0102)=$33; X (X)=$0100

: (0)=$0100, (RO)=$11 ,  (X)+1=$0101

;X R27, R26, SRAM =$60

g i=Ea ik

Rl = 0x22 R13 = 0x00 R25 = 0x00 [ox00000016 | X-Registe ox0101
R2 = 0x22 R14 = 0x01 R26 = 0x01 fl o e H:’t' —
E3 = Oxll R15 = 0=z00 R27 = 0=01 LSt
R4 = Oxll R16 = 0x00 R28 = 0x00 [| Cyele foooooois Z-Regi st [0x0023
RS = 0x00 R17 = 0x00 R29 = 0x00 =l
Ré = 0x01 R18 = 0=00 R30 = 0x23 | e
R7 = 0x00 R1S = 0x00 R31 = 0=00 1% SRAM $rE E‘E o [= [ |
R8 = 0x00 R20 = 0=00 . =
B3 - 0m00 R21 - 0wDD Daite /_L[ = ¥ [0x0108 |
F10 = 0x00 R22 = 0=40 QOFO 0000 UUDDL{JUGU QD00 Q000 a00D Q000 Q000 =
Rl11 = 0x02 R23 = 0x00 0100 L1222 3344 5566 7788 S%00 0000 0000 0000
1I I _pI 0110 Q000 0000 QOO0 0000 QODOOQ Qo000 Q000 Q000 ﬁ
Id  riX - 00=$0101 ,(R)=$22
Idi  r30,$23 (R30)=$23
Id r2.X - 00=$0101, (R2)=$22
Id r3,X (X)-1=$0100, (R3)=$11
Id rax+ . 00=$0100, (R4)=$11, (X)+1=$0101
NOP ;
RIMP LP
Words: 102 bytes!
Cycles: 2
2 X SRAM
ST— X SRAM
: SRAM. SRAM X {16
a 64K SRAM a SRAM & 1/0
RAMPX a s X . 1 1. X
. (0€ Rr
X € Rr XEX+1
X € X—1 (X)€Rr

ST X,Rr 0= d=31 X PC&PC+1
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AVR 4 — 58
ST X+ ,Rr 0=d=31 , X 1 PC&PC+1
ST —X,Rr 0=d=31 X 1, PC<PC+I1
16
1. 1001 | 001r | rrrr | 1100
2. 1001 | 001r | rrrr | 1101
3. 1001 | 001r | rrrr | 1110
{SREG }
| T H S v N z C
N N N N
: ( 4622 .ASM)
Ip:
clr r27 ;X 5 R27, R26
Idi r26,$70 ;$70 X ,SRAM =$60
st X+,r0  ; (RO)=$%$11, SRAM(X)=$0070, (X)+1=%$0071
st X,rl ;o (RD)=%22, (X)=$0071, SRAM($0071)=$22
Idi r26,%$80 ;$80 X
st x,r2 ;. (R2)=%33, (X)=$0080, SRAM($0080)=$33
st -x,r3 ; (R3)=%$44, (X)-1=$007F, R3 SRAM($007F)
nop ;
rjmp Ip ;
Words: 10 2 bytes)
Cycles: 2
x Y
3. Y SRAM
LD ¢LDD} — Y SRAM
: SRAM » SRAM Y
(16 a 64K SRAM SRAM s
1/0 RAMPY : Y : 1
1 a Y , .
: Rd€ (Y3
Rd< (Y)
Y&EY—1 YEY+ 1
Rd& (Y+q! Rd& (Y3
LD Rd,Y 0= d=31 ,Y PC&PC+1
LD Rd Y+ 0=d=31 , Y 1 PC&PC+1
LD Rd,-Y 0=d=31 Y 1, PC&PCHI
LDD Rd Y+q 0= d=31 Y qg, , PC&PCH1
0=0g=63 Y 4 q)
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AVR 4 — 59
16 :
1. | 1000 000d dddd 1000
2. | 1001 000d ddadd 1001
3. [ 1001 000d dddd 1010
4. | 1090 qqod dddd 1qqq
{SRE! :
I ey e
: ( 4623.ASM)
LP:
clr r29 ;Y ,Y R29, R28
Idi r28,$60 ; $60 Y SRAM =360
Id ro,y+ ;; Y ,Y+1 SRAM RO, :SRAM($0060)=$11
; ($0061)=$22 ,($0062)=$33; (Y)=$0060, (RO)=%11 , (Y)+1=$0061
Id rl,y ; (Y)=%0061, ,(R1)=%$22
Idi r28,$70 ; $70 Y
Id r2,y ; (Y)=$0070, ($0070)=$44,($006F)=$55, ($0071)=$66
; (R2)=$44
Id r3,-y ; (Y)-1=$006F, (R3)=$55
ldd r4,y+2 ; , (Y+Q)=(Y+2)=($006F+2)=3$071, (R4)=%66,
;Y ¢4 q)(Y)=%$006F
nop ;
rjmp Ip ;
Words: 1 {2 bytes!
Cycles: 2
4, Y SRAM
ST (STD} — Y SRAM
: SRAM o SRAM
{16 a 64K SRAM . SRAM
1/0 RAMPY . .Y : 1
Y ,
: [Y) € Rr
(Y} € Rr YEY+ 1
Y €« Yy—I (Y} €Rr
Y+ g)€ Rr
ST Y,Rr 0= d=31 Y PC&PC+H1
ST Y+ ,Rr 0=d=31 , Y 1 PC&PC+H1
ST -Y. Rr 0=2d=31 Y 1, PC&PCH1
STD Y+q,Rr 0= d==31, Y q, , PC&PC+H1

0=0g=63 Y 4 q)


http://www.ic-cn.com.cn

WWW.IC-Ch.com.cn

AVR 4 — 60
16 :
1. 1000 001r rrrr 1000
2. 1001 001r rerr 1001
3. 1001 001r rrrr 1010
4. 1090 Qglr rrrr 1gqgq
{ SREG :
T -T-T-—T-T-T—]
: ( 4624 . ASM)
LP:
clr r29 ;Y Y R29, R28
Idi r28,%70 ;$70 Y , SRAM =$60
st y+,r0 ; (RO)=$11, SRAM(Y)=$0070, ()+1=$0071
st vy,rl ;. (RD)=%22, (Y)=%0071, SRAM($0071)=$22
Idi r28,%$80 ;$80 Y
st y,r2 ;. (R2)=%33, (Y)=%0080, SRAM($0080)=$33
st -y,r3 ; (R3)=%$44, (Y)-1=$007F, R3 SRAM($007F)
std y+2,r4 ; (R4)=$55,
; , (Y+q)=(y+2)=($007F+2)=$0081, SRAM($0081)=$55,
; Y 4 Q)(Y)=%$007F
nop ;
rjmp Ip ;
Words: 112 bytes!
Cycles: 2
\ VA
5. z SRAM
LD {LDD} — Z SRAM
: SRAM » SRAM
(16 3 a 64K SRAM
: 1/0 RAMPZ a y Z :
1 1 Z ' ' Z
: o Z X. Y
Z . LPM
: Rd& (Z3)
Rd& (Z)
Z <721
Rd& (Z+q!
LD Rd,Z 0= d=31 ,Z PC&PC+1

LD Rd Z+ 0=d=31 , Z 1 PC&PCH1
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AVR 4 — 61
LD Rd,-Z 0=d=:31 VA 1, PC&PCH1
LDD Rd Z+q 0= d=31 Z q, , PC&PCH1
0=0g=63 Z z q)
16
1. | 1000 000d dddd 0000
2. (1001 0ood dddd 0001
3. | 1001 000d dddd 0010
4. | 1090 qqod dddd 0gqq
{ SREG
T T-T-T-T-T-]
: ( 4625.ASM)
LP:
clr r31 A ,Z R31, R30
Idi r30,$60 ; $60 Z SRAM Z$60
Id ro0,z+ ;; VA ,Z+1 SRAM RO, :SRAM($0060)=$11
; ($0061)=$22 , ($0062)=$33; (2)=3%0060, (RO)=$11 , (2)+1=%0061
Id r1,Zz ; (2)=$0061, ,(RD)=$22
Idi r30,%70 ; $70 Y
Id r2,Z ;  (2)=$0070, ($0070)=$44,($006F)=$55,($0071)=$66
; (R2)=$44
Id r3,-Z ; (2)-1=$006F, (R3)=$55
ldd r4,z+2 ; , (Z+Q)=(Z+2)=($006F+2)=$071, (R4)=%66,
i 2 @z a)(Z)=$006F
nop ;
rjmp Ip ;
Words: 10 2 bytes)
Cycles: 2
6. VA SRAM
ST (STD} — VA SRAM
: SRAM. SRAM VA
(16 ) a 64K SRAM SRAM .
1/0 RAMPZ “ s L 1
1. VA , a VA
, , Z : X Y
: [Z) €Rr
(Z) €Rr €7 1
€& Z-1 (Z) €Rr
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AVR 4 — 62
(Z+q! €Rr
ST Z,Rr 0= d=31 ,Z PC&PC+1
ST Z+,Rr 0=d==31 , Z 1 PC&PC+1
ST -Z. Rr 0=d=31 Z 1, PC&PCH1
STD Z+q,Rr 0= d=31. VA g, , PC&PC+1
0= =63 Z (¢4 Q)
16 :
1. | 1000 001r rrrr 0000
2. | 1001 001r rrrr 0001
3. | 1001 001r rrrr 0010
4. | 1000 qaqir rrer Ogaq
{ SREG :
| T H S V N z C
: ( 4626 .ASM)
LP:
clr r31 A z R31, R30
Idi r30,$70 ;$70 Z , SRAM =%$60
st z+,r0 ; (RO)=$11, SRAM(Y)=$0070, (2)+1=%0071
st Z,r1 ;. (RD)=%22, (2)=%0071, SRAM($0071)=$22
Idi r30,%$80 ;$80 Z
st Z,r2 ;. (R2)=%33, (2)=3%0080, SRAM($0080)=$33
st -Z,r3 ; (R3)=%$44, (2)-1=%007F, R3 SRAM($007F)
std Z+2,r4 ; (R4)=$55,
: ) (Z+q)=(Z+2)=($007F+2)=%$0081, SRAM($0081)=$55,
: VA z q)(Z2)=$007F
nop ;
rjmp Ip
Words: 102 bytes)
Cycles: 2
3.6.3
1. LPM—
: Z 0 (ROJ. 100 %a s
a 16 . 2616 ) (LSBJ
0 ' 1 a 64K (32 .
: RO& (Z)
LPM None PC&PC+ 1

16
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AR 4 — 63
[ 1001 [o0101 [110x [1000 |
{ SREG) :
T -T-T-T-T-T-]
: ( 4631.ASM, ” ASW)
.org $0010 ; $0020
clr r31 A ,
Idi r30,%F0 ;Z ,
CLR R29 DY
LDI R28,$F0 ; $FO Y
LP: NOP : ($000F0)=$00, ($00FF)=$FF
1PM : Z RO
ST Y+,R0 :Y RO SRAM($00F0), Y  Y=(Y+l)
INC R3O ;Y RO SRAM($00F1),  Y=(Y+1)
CPI R30,$00 ;R30 (2 ) $00
BRNE LP :R30 0, 0
INC R31 :Z 1 ,(2)=$0100
RIMP LP : , )
.ORG $0078 ; $00F0

.DW 0X1122,0X2233,0X4455,0X6677,0X8899,0XAABB,0XCCDD, OXEEFF
.DW $0208,$5510,$1910,$8750,$5012,$8757,$8872,$8757,$8852

Words: 1 {2 bytes!
Cycles: 3

4-6-4 1740

1. 1/0
IN—/ 0
1/0 - , i Rd
: RA<P

IN Rd P 0= d=31. 0== P=£63 PC&PC+ 1
16 :

| 1011 [oppd |[dddd |PPPP |

{ SREG!

: ( 4641.ASM)
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AVR

LP:

IN R25 , $1B
LDl R23 , $2
ADD R23 ,R25
RIMP LP
Words:
Cycles:

ouT

P&

OuT P. Rr
16

A
6

26

;R23

1

1/ 0

1f

1/0

Rr

0=

R25

R23

R25

2 bytes!

Rr

r=31,

| 10011 | 1pPr | rrrr | PPPP

i

SREG )

0

R23

=

P

;AT9

0S1200 PB

~ PD

.DEVICE AT90S1200

.EQU
_EQU
.EQU
_EQU
.ORG

LOP:

-ORG

LOP1:

PORTB
DDRB
PORTD
DDRD
0X0000
RIMP
0X0010
LDI
OUT 0X17,R20
OUT 0X11,R20
CLR R20
OUT 0X18,R20
OUT 0X12,R20
LDI R20,0X64

LDI R20,0XFF
OUT 0X18,R20
OUT 0X12,R20
LDI R20,0X64

RIMP LOP1

=0X18
=0X17
=0X12
=0X11

LOP1

4642 .ASM)

R20,0XFF

LED
B
D

LED

PORTB
PORTD

AT90S1200

170

LED
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AVR 4 — 65
Words: 172 byteS)
Cycles: 1
4-6.5
AVR SP. :
1.
PUSH—
Rr .
STACK<Rr
PUSH Rr 0 = d =31 PC&PCH+1  SP&SP— 1
16
1000 [o00id |dddd |1121 |
{ SREG :
1 T H S v N VA C
: ( 4651.ASM)
LP:
rcall routine ; ROUTINE
routine: push r13 ; R13
push rl4 ; Rl4
push r15 ; R15
pop ri5 ; R15
pop ril4 ; R14
pop ri3 ; R13
ret ; R13: R14. R15
rjmp 1Ip ;
Words: 1 {2 bytes!
Cycles: 2
2.
POP—
: Rd =
: RA<STACK
POP Rd 0 =d=31 PC&PCH1 SP€SP+ 1
16

| 1000 |oood |dddd |1121 |

i SREG?
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